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Diff03 for No.9395

5
d=(f(x)=(3x-2)") 2=(f(x)=2x+2x+9))
1
3=(f(x)=42x-7) .4:(f(x)=—4 J
2x =5
No0Ol = 1 1
5= f(x)= p .6:(f(x):—j
(4x°=3x-3) VT-8x
A (5x+3)
T=(fx)=(5x+3)" (2x-3))  .8=|f(x)= -
L (2x-3) J
No2 k = 4 === ====== === ===
I x| f(x) | £'(x) | g(x) | g'(x) | I x| f(x) | £'(x) | g(x) | g'(x) |
| -6 | 2| -16 | 3 6 | [ 1] -5 | -2 | -4 | -1
| =5 | 1] -14 | 4 | 5 2 -6 | 0 | -3 | -2 |
| -4 | 0 | -12 | 5 | 4 | 3 7 2| -2 | -3 |
I =3 | -1 -10 | 6 | 3 | [ 4| 6 | 4 -1 -4 |
| =2 | -2 | -8 | 7 2 | [ 5 5 | 6 | 0 | -5 |
[ -1 | -3 | -6 | -6 | 1] | 6 | 4 | 8 | 1] -6
[0 | -4 | -4 | -5 | 0 | 7 3 10 | 2 =7 |
No3 : k = 7 ======= —=————————e e e
| x | =81 -7 1 -6 =51 4 1 -3 1 -2 1 -1 0 |
[ g(x) | 4 | 3 2| 1 ol -1 -2 1 =31 -4 |
I g'(x) | 6 | 5 4 | 3 2| 1] o1 -1 -2 |
| x| 1] 2| 31 4 | 5 | 6 | 7 8 | 9 |
| gx) | =51 -6 1| =71 =81 9 | 8 | 7 6 | 5 |
lg'(x) I =31 -4 -5 -6 -7 =81 =91 -10 | -11 |
47
No0d = x(1)=" — P(x) = 64x — 13, k=3
+t
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Diff03 for No.9419

5
d=(f(x)=(7x-5)%) 2=(fx)=3x"=5x+5))
1
3=(f(x)=+/5-3x) .4=(f(x)=7—J
3x' =5
No0l = 1 1
S=|fx)= ; .6:(f(x):—j
Q2 +2x+7) V2-Tx
. (6x+5)
T=(f(x)=(6x+5)2x-7)")  8=|f(x)= -
L (2x-17) J
No2 : k = 2 === ====== === ===
[ x| f(x) | £'(x) | g(x) | g'(x) | [ x| f£(x) | £'(x) | g(x) | g'(x) |
| =6 | 2 1 -12 | 0 | 7| 1 =5 2 | 7 0 |
| =5 | 31 -10] -1 6 | 2 -4 4 | 61 -1 |
| -4 | 41 -8 -2 5 | 31 =3 6 | 51 -2 |
| -3 | 51 =61 -3 4 | 4 -2 8 | 41 -3
| -2 | 61 -4 -4 3 | 51 -1 10 | 31 -4
| -1 | 701 =21 -5 | 2 | |6 | o 12 | 21 -5
o1 -6 | ol -6 1 7 11 14 11 -6
No3 : k = 5 ======= s========== s==============
| x | =81 =71 -6 =51 4 1 -3 | -2 1| -1 | 0 |
I g(x) | -1 0 | 1] 2 | 3 4 5 | 6 | T
[ g'(x) | 16 | 14 | 12 | 10 | 8 | 6 | 4 | 2 0 |
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
[ g((x) | 8 | °!1 -8 -71 -6 | -5 -4 | -3 | -2 |
[ g'(x) | -2 | -4 | -6 | -8 | =10 | =12 | =14 | -16 | -18 |
77
No0d=| x(1) = — P(x)=8+/x — 15, k=2
+
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Diff03 for No.9428

7
d=(f(x)=(3x+2)") 2=(f(x)=(2x+2x+9))
1
3=(f(x)=46x-7) .4=(f(x)=3—J
3x+4
NoOT=1" 5 _| fx)= : .6:(f(x):—j
2x+2x+3) 4x—7
5 (5x+7)
T=(f(x)=(5x+7)(3x-8)")  .8=|f(x)= :
L (3x-28) J
No2 : k = 6 === ====== === ===
[ x| f(x) | £'(x) | g(x) | g'(x) | [ x| f£(x) | £'(x) | g(x) | g'(x) |
| -6 | -3 | 16 | 1] -6 | [ 1] 4 | 2| -6 | 1]
[ =51 -4 | 14 | 2 | -5 | [ 2] 3 0 | -5 | 2 |
[ -4 | -5 | 12 | 3 | -4 | [ 31 2 | -2 -4 | 3
[ -3 | -6 | 10 | 4 | -3 | [ 4] 1 -4 | -3 | 4 |
| =2 | 7 8 | 5 | -2 | | 5 | 0 | -6 | -2 | 5 |
[ -1 6 | 6 | 6 | -1 | [ 6 | -1 | -8 | -1 | 6
[0 | 5 | 4 | 7 0 | 7 -2 | -10 | 0 | 7|
No3 : k = 7 ======= s========== s==============
| x| =81 =71 =61 =51 -4 =3] -2 | -1] 0|
[ g(x) | 1 2| 31 4 | 5 | 6 | 7 8 | 9 |
I g'(x) | 6 | 5 4 | 3 2 | 1| ol -1 -2 |
| x| 1] 2| 31 4 | 5 | 6 | 7 8 | 9 |
| g(x) | -81 =71 -61 =51 -4 | =31 -2 -1/ 0 |
lg'(x) I -31 -4 -5 -6 =71 -81 -9 -10 | -11 |
47
No04 = x(1) =", — P(x)=8+4/x —9,k=3
+t
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7
d=(f(x)=(8x+3)) 2=(fx)=2x"+2x+5))
1
3=(f(x)=+/8-3x) .4=(f(x)=7—J
4x -5
No0l = 1 1
S=|fx)= - .6:(f(x): j
2P +2x+7) Va4-3x
S (8x—5)
T=(f(x)=(8x-5)(5x-7)) .8=|f(x)= ;
L (5x=17) J
No?2 k = 5 === ====== === ===
[ x| f(x) | £'(x) | g(x) | g'(x) | [ x| f£(x) | £'(x) | g(x) | g'(x) |
| -6 | 1 16 | -2 | -8 | [ 1] -6 | 2| 5 | -1
[ =51 2 | 14 | -3 | -7 | [ 2] -5 | 0 | 4 | 0 |
[ -4 | 3 12 | -4 | -6 | [ 31 -4 | -2 3 | 1|
[ -3 | 4 | 10 | -5 | -5 | [ 4] -3 | -4 | 2| 2|
| =2 | 5 8 | -6 | -4 | | 5 ] -2 | -6 | 1 | 3
[ -1 6 | 6 | 7 -3 | [ 6 | -1 | -8 | 0 | 4 |
[0 | 7| 4 | 6 | -2 | 7 0 | -10 | -1 | 5 |
No3 k = 3 ======= =========== ===============
| x | -8 -7 -6 -5 -4 -3 | -21 -1/ 0 |
[ g((x) | 5 4 | 3 2 | 1 ol -1 -2 1 =3
| g'(x) | 14 | 12 | 10 | 8 | 6 | 4 | 2 | o1 -2
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
| gx) | -41 -5 -6 =71 -8/ 9 | 8 | 7| 6 |
[ g'(x) | -4 | -6 | -8 | =10 | =12 | =14 | -16 | =18 | =20 |
27
No0d=| x(1) =", — P(x)=8+4/x — 13,k=8
+
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7
d=(fx)=(5x+3)%) 2=(f(x)=B3xX+7x+7))
1
3=(f(x)=+2x-5) .4:(f(x)=—4 J
4x -7
No0Ol = 1 1
S=|fx)= - .6:(f(x):—j
(45 -5x-75) V4-Sx
; (4x+3)
J=(f(x)=(4x+3) (5x-3)) .8=|f(x)= :
L (5x-3) J
No2 : k = 3 === ====== === ===
[ x| f(x) | £'(x) | g(x) | g'(x) | [ x| f£(x) | £'(x) | g(x) | g'(x) |
| -6 | 1 8 | -2 | -12 | [ 1] -6 | 1] 5 | 2|
[ =51 0 | 7 -1 -10 | [ 2] 7| 0 | 6 | 4 |
[ -4 | -1 | 6 | 0 | -8 | [ 31 6 | -1 | 7 6
[ -3 | -2 | 5 | 1] -6 | [ 4] 5 | -2 | -6 | 8 |
[ -2 | -3 | 4 | 2 | -4 | [ 5 4 | -3 -5 | 10 |
[ -1 -4 | 3 3 | -2 | [ 6 | 3 -4 | -4 | 12 |
[0 | -5 | 2 | 4 | 0 | 7 2 | -5 | -3 | 14 |
No3 : k = 8 ======= s========== s==============
x| =81 =71 =61 =51 -4 =3 ] -2] -1] 0|
| g(x) 1 41 31 20 11 0] -11] =2 -3 -4
lg'(x) | =71 =61 =51 -4 =31 -2 -1 | 0] 1|
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
| gx) | -5 -6 1| -7 1 -8/ 9 | 8 | 7 6 | 5 |
[ g'(x) | 2 | 3] 4 | 5 | 6 | 7 8 | 9 | 10 |
77
No04 =| x(1) ==, P(x)=8+4/x = 11,k=6
5+¢
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6
I=(f(x)=3x+4)" 2=(f(x)=(2x*-5x-5))
1
3=(f(x)=45x-6) .4:(f(x)=—3 J
5x =7
No0Ol = 1 1
5= f(x)= ; .6:(f(x):—j
2x+2x+3) Va4-3x
S (8x+7)
T=(f(x)=(8x+7)(3x+2)) .8=|f(x)= ;
L (3x+2) ]
No2 : k = 2 === ====== === ===
I x| f(x) | £'(x) | g(x) | g'(x) | I x| f(x) | £'(x) | g(x) | g'(x) |
| -6 | 2| 5 | 0 | -12 | [ 1] -5 | -2 | 7 2|
| =5 | 1] 4 1] -10 | 2 -6 | -3 | -6 | 4
| -4 | 0 | 3 2| -8 | 3 7 -4 | -5 | 6
I =3 | -1 2 3 -6 | [ 4| 6 | -5 | -4 | 8 |
| =2 | -2 | 1] 4 | -4 | [ 5 | 5 | -6 | -3 | 10 |
[ -1 | -3 | 0 | 5 | -2 | | 6 | 4 | -7 -2 | 12 |
[0 | -4 | -1 | 6 | 0 | 7 3 -8 | -1 14 |
No3 : k = 4 ======= =========== s==s===s=======
| x | -8 -71 -6 =51 -4 -3 1| -2 1 -1/ 0 |
[ g(x) | 1 2| 31 4 | 5 | 6 | 7 8 | 9 |
l g'(x) | 12 | 10 | 8 | 6 | 4 2| o1 =21 -4 |
| x| 1] 2| 31 4 | 5 | 6 | 7 8 | 9 |
| g(x) | -81 =71 -61 =51 -4 | =31 -2 -1/ 0 |
[ g'(x) | -6 | -8 | =10 | =12 | -14 | -16 | =18 | =20 | =22 |
37
No04 =| x(t) ==, P(x) =24/x =5,k =3
5+¢
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Diff03 for No.9633

d=(f(x)=(Tx+2)") 2= (fx)=(3r +4x+4))

3=(f(x)=47-3x) .4=(f(x)=ﬁ}
E

No0l = 1 1
S=|f(x)= .6:(f(x):—j
4
2x+2x+3) V8-Tx
S (7x+6)
J=(f(x)=(7x+6)(3x+8)) .8=|f(x)= ;
L (3x+38) ]
No2 : k = 6 === ====== === ===
[ x| £(x) | £'(x) | gx) | g"(x) | [ x| £(x) | £'(x) | gx) | g"'"(x) |
| -6 | 2 | -8 | 4 | 4 | [ 1 ] -5 | 6 | -3 | -3 |
| =5 | 1 | -6 | 5 | 3 [ 2] -6 | 8 | -2 | -4 |
| -4 | 0 | -4 | 6 | 2 | [ 3 T 10 | -1 | -5 |
[ =31 -1 | -2 | 7 1] [ 4 | 6 | 12 | 0 | -6
| =2 | -2 | 0 | -6 | 0 | [ 5 | 5 | 14 | 1] -7 |
[ =1 | -3 | 2 | -5 | -1 | [ 6 | 4 | 16 | 2 | -8 |
[0 | -4 | 4 | -4 | -2 | [ 7 3 18 | 3 -9
No3 k = 2 ======= =========== ===============
| x | -8 -7 -6 -5 -4 =31 -2 1 -1/ 0 |
[ g(x) | 0 | 1| 2 | 3 4 | 5 | 6 | T 8 |
[ g'(x) | 5 | 4 | 3 | 2 | 1 ol -11 =21 =3
| x| 1] 2 | 3 | 4 | 5 | 6 | 7 8 | 9 |
[ g(x) | 9! -8 | =71 =-61 =51 -4 -3 1 =21 -1 |
|l g'(x) | -4 -5| -6 | =71 -8 =9 | =10 | =11 | -12 |
37
No04 =| x(1) ==, P(x) =4+/x = 13,k=3
5+¢

DRI ISRV IO NA D 19:9:0:0:0:0:0:0.0.0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0:0.0.0.9.0.0.0.0.:0.0.0.0.0.9.0.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.0.0.0:0:0:0:0:9.9.9.0:0:9:0:0:0:9:9:9:9.9.9.9.9.9.9.9.9:9.9.9.9.9.9.0.4



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXX XXX XXX KKK KKK KKK KKK KKK K KKK KKK XKL KKK KKK KKK XKKKXKKKXME6/1-6600507-00008XX
Diff03 for No.9711

4
I=(fx)=2x+7)"") 2=(f(x)=(2x*"-5x+5))
1
3=(f(x)=46-7x) .4=(f(x)=—4 J
5x —8
No0Ol = 1 1
S=flx)= - .6:(f(x):—j
(4% -Tx+7) V8x-3
A (8x-3)"
T=(f(x)=(8x-3)"(5x-8)) .8=|f(x)= y
L (5x-28) J
No2 k = 4 === ====== === ===
[ x| f(x) | £'(x) | g(x) | g'(x) | [ x| f£(x) | £'(x) | g(x) | g'(x) |
| -6 | 3 -16 | -3 | 8 | [ 1] -4 | -2 | 4 | 1]
[ =51 2 | -14 | -2 | 7| [ 2] -5 | 0 | 5 | 0 |
[ -4 | 1 -12 | -1 6 | [ 31 -6 | 2 | 6 | -1 |
[ -3 | 0 | -10 | 0 | 5 | [ 4] T 4 | 7 -2 |
[ -2 | -1 -8 | 1 | 4 | [ 5 6 | 6 | -6 | -3 |
[ -1 -2 | -6 | 2 | 3 [ 6 | 5 | 8 | -5 | -4 |
[0 | -3 | -4 | 3 2 | 7 4 | 10 | -4 | -5 |
No3 : k = 5 ======= s========== s==============
x| =81 =71 =61 =51 =4 -=3] -2] -1] 0|
[ g((x) | 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
| g'(x) | =14 | =12 | =10 | -8 | -6 | -4 | =2 | 0 | 2|
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
| gx) | -81 -7 -6 =51 -4 | 3 -2 1 -1 0 |
[ g'(x) | 4 | o | 8 | 10 | 12 | 14 | 16 | 18 | 20 |
27
No04=| x(1)=" — P(x)=8+/x —3,k=4
+t
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Diff03 for No.9784

I=(fx)=(4x-5") .2:(ﬂx):(2x?+2x+11f)

3=(f(x)=4/5x-2) .4=(ﬂx)=g—%—;J
E

No0I = 1 1
S=|f(x)= .6:(Kx):——————j
7
2 +2x+3) V2Zx—7
. (7x+2)"
T=(fx)=(Tx+2Y(2x+3))  .8=|f(x)= ;
L (2x+3) J
No2 : k = 5 === ====== === ===
[ x| f(x) | £'(x) | g(x) | g'(x) | [ x| f£(x) | £'(x) | g(x) | g'(x) |
| -6 | -3 | -5 | -1 | 14 | [ 11 4 | 2 | 6 | 0 |
[ =51 -2 | -4 | -2 | 12 | [ 2] 5 | 3 5 | -2 |
[ -4 | -1 | -3 | -3 | 10 | [ 31 6 | 4 | 4 | -4 |
[ -3 | 0 | -2 | -4 | 8 | [ 4] T 5 | 3 -6
| =2 | 1 ] -1 | -5 | 6 | | 5 -6 | 6 | 2 -8 |
[ -1 2 | 0 | -6 | 4 | [ 6 | -5 | 7 1 -10 |
[0 | 3 1| 7 2 | 7 -4 | 8 | 0 | -12 |
No3 : k = 4 ======= e ———— e
| x | -8 -7 -6 -51 -4 ] -3 -2 1 -1 0 |
[ gx) | -2 1 -1 0 | 1| 2 | 3 4 | 5 | 6 |
[ g'(x) | 16 | 14 | 12 | 10 | 8 | 6 | 4 | 2 0 |
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
[ g((x) | 7| 8 | S| -8 -71 -6 1 -5 -4 ] -3 |
[ g'(x) | -2 | -4 | -0 | -8 | =10 | =12 | =14 | -16 | -18 |
37
No04 =| x(1) ==, P(x) = 64/x = 11, k=5
4+t
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Diff03 for No.10143

7
d=(f(x)=3x+7)%) 2=(fx)=3x*-8x+8))
1
3=(f(x)=46x-7) .4:(f(x)=—5 J
2x +3
No0Ol = 1 1
S=|fx)= p .6:(f(x):—j
2x*+2x+5) V3x-3
; (2x-3)
T=(f(x)=(2x-3)Y(7x-4)) .8=|f(x)= ;
L (7x-4) J
No2 : k = 6 === ====== === ===
x| f(x) | £ (=) | g(x) | g'(x) | I ox | f(x) | £'(x) | g(x) | g'(x) |
| =6 | 0 -12] -3 7| |1 7 2 | 4| 0 |
| =51 -1 | -0 1| -2 | 6 | |2 6 | 4 | 51 -1
=41 -2 =81  -1| 5 | |3 5 6 | 61 -2 |
=31 =31 -6 | 0 | 4 | |4 4 | 8 | 70 =3
=21 -4 -4 1 3 | |5 31 101 -6 -4
=11 =51 -2 | 2 | 2 | |6 | 21 121 =51 -5
o1 -6 | 0 | 31 1 7 11 141  -41 -6
No3 : k = 3 ======= s========== s==============
| x | -8 -7 -6 -5 -4 -3 | -21 -1/ 0 |
[ g((x) | 3 2 | 1] ol -1 -21 =31 -4 -5/
[ g'(x) | -10 | -8 | -6 | -4 | -2 | 0 | 2 | 4 | 6 |
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
| gx) | -6 1 -7 1 -8/ 9 | 8 | 7 6 | 5 | 4 |
[ g'(x) | 8 | 10 | 12 | 14 | 16 | 18 | 20 | 22 | 24 |
57
No0 = x(1)=" — P(x) = 2+/x — 15, k=3
+t
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Diff03 for No.10626

I=(fx)=(5x+7)"") .2:(f(x):(3x4—8x+8)6)

3=(f(x)=4Tx-4) .4=(f(x):ﬁ]
Ao

NoOl = 1 1
S=flx)= .6:(f(x):—j
5
(3 +2x-2) V2-3x
A (-7 +8x)*
T=(f(x)=(-7+8x)(4x-5)") .8=|f(x)= ;
L (4x-5) J
No2 : k = 3 === ====== === ===
[ x| £(x) | £'(x) | g(x) | g'(x) | [ x| £(x) | £'(x) | g(x) | g'(x) |
| -6 | 2 | 14 | 3 | =7 [ 1 | -5 | 0 | -4 | 0 |
| =5 | 3 12 | 2 -6 | [ 2 -4 | -2 | -5 | 1 |
| =4 | 4 | 10 | 1 | -5 | [ 3 -3 | -4 | -6 | 2
| =3 | 5 | 8 | 0 | -4 | [ 4 | -2 | -6 | 7 3 |
| -2 | 6 | 6 | -1 | -3 | | 5 | -1 | -8 | o | 4 |
[ =1 | 7 4 | -2 -2 [ 6 | 0 | -10 | 5 | 5 |
[0 | -6 | 2 | -3 | -1 | [ 7 1 | -12 | 4 | 6
No3 : k = 2 ======= —=————————e e e
| x | =81 =71 -61 =51 -4 =31 =21 -1/ 0 |
[ g(x) | 1 | 2 3 4 | 5 | 6 | 7 8 | 9 |
[ g'(x) | 5 4 | 3 2 1 | ol -1 1 -2 1 =3
| x| 1] 2 | 3 | 4 | 5 | 6 | 7 8 | 9 |
| ogx) | -8 -7 -6 | -5 -4 | -3 | -2 -1/ 0 |
| g'(x) | -4 1 -5| -6 | =71 =81 =9 | =10 | =11 | -12 |
6
No04 = x(t)=5+t2,P(x)=2f—3,k=4
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Diff03 for No.11002

7
d=(fx)=(2x-5") 2=(fx)=2x"+2x+11))
3=(f(x)=4/6-5x) .4:(f(x):3—J

3x+4
No0l = 1 1
S=|f(x)= ; .6:(f(x):—J
2xt+2x+3) VSx-—8
; 2x+7)
T=(fx)=(2x+7)(5x+8)) 8=|f(x)= ;
L (5x+8)
No2 : k = 3 === ====== === ===
[ x| £(x) | £'(x) | g(x) | g'(x) | [ x| £(x) | £'(x) | g(x) | g'(x) |
| -6 | 1 | -8 | 3 | 12 | [ 1 | -6 | -1 | -4 | -2 |
| =5 | 2 =7 2 10 | [ 2 -5 | 0 | -5 | -4 |
| =4 | 3 -6 | 1 | 8 | [ 3 -4 | 1 | -6 | -6
| =3 | 4 | -5 | 0 | 6 | [ 4 | -3 | 2 | 7 -8 |
| =2 | 5 | -4 | -1 4 | [ 5 | -2 3 | 6 | -10 |
[ =1 | 6 | -3 | -2 2 [ 6 | -1 | 4 | 5 | -12 |
[0 | T -2 | -3 | 0 | [ 7 0 | 5 | 4 | -14 |
No3 : k = 6 ======= s========== s==============
x| =81 =71 =61 =51 -4 =3 ] -2] -1] 0|
| g(x) | 41 31 21 11 0] -11] 2] =31 -4|
lg'G) I 91 81 71 61 51 41 31 21 1]
| x| 1] 2 | 3 | 4 | 5 | 6 | 7 8 | 9 |
| gx) | =51 -6 | =71 =8 9 | 8 | 7 6 | 5 |
[ g'(x) | ol -1 -21 =31 -41 =51 -6/ 701 -8 |
47
No04 =| x(t) =——, P(x) =4/x -3,k =3
T+t
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Diff03 for No.11188

6
J=(f(x)=(6x-7)") 2=(f(x)=(2x+2x+9))
1
3=(f(x)=47x-5) .4:(f(x)=—6 J
Tx —8
No0Ol = 1 1
S=|fx)= - .6:(f(x):—j
(3x*-8x+8) V8-3x
5 (5x-2)
T=(f(x)=(5x-2)(7x+5))  .8=|f(x)= ;
L (7x+5) ]
No2 k = 4 === —————e === ===
x££ 1 gx) | gl (x) | x££ () | gx) | g (x) |
| -6 | 0 121 =31 -8 | |1 7 -2 41 -1
=51 -1 101 =20 7| 2 61 4| 5 | 0 |
-4 -2 81 -11 -6 | |3 51 -6 | 6 | 1
| =31 -3 6 | 01 -5 |4 41 -8 | 7 2 |
-2 -4 4 | 1 -4 |5 | 31 -10 1 -6 | 3 |
-1 -5 2 | 21 -3 |6 | 21 12| -5 | 4 |
01 -6 0 | 31 -2 7 1 -1 -4 5 |
No3 : k = 8 ======= —========== ===============
| x | -8 -71 -6 =51 -4 -3 1| -2 1 -1/ 0 |
| gx) | -4 1 -3 -2 1 -1/ 0 | 1] 2| 3 4 |
[ g'(x) | 18 | 16 | 14 | 12 | 10 | 8 | 6 | 4 | 2
| x| 1] 2| 31 4 | 5 | 6 | 7 8 | 9 |
[ g(x) | 5 | 6 | 7 8 | 1 =81 =71 -6 1 =51
I g'(x) | 0 | -2 -4 | -6 | -8 | =10 | =12 | -14 | -16 |
61
No04 =| x(1) =——, P(x) = 64/x — 13, k=4
T+t
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Diff03 for No.11505

4
I=(fx)=(-4+3x)")  2=(fx)=(2x'+2x+5))
I
3=(f(x)=45x-8) .4:(f(x)=—3 J
Sx +8
NoOT=1" 5 _| fx) = : .6:(f(x):—j
(2x*+2x+3) Sx—T
S (5x+6)
T=(fx)=(5x+6)(4x+3))  8=|f(x)= :
L (4x+3) ]
No2 : k = 6 === ————ee === ===
x| £(x) | £'(x) | g(x) | g"'(x) | x| £(x) | £'(x) | g(x) | g"(x) |
| -6 | 1] -14 | -1 S [ 1] -6 | 0 | 6 | -2 |
[ =5 | 0 | -12 | 0 | 4 | 2 7 2 7 -3 |
[ =4 | -1 -10 | 1] 3 | [ 3 6 | 4 | -6 | -4 |
[ =31 -2 | -8 | 2 2 [ 4 S | 6 | -5 | -5 |
| =2 | -3 | -6 | 3 | 1 | |5 | 4 | 8 | -4 | -6 |
[ -1 -4 | -4 | 4 0 | [ 6 | 3 | 10 | -3 | =7
[ 0 | =5 | -2 | 5 -1 7 2 12 -2 | -8 |
| x | -8 =71 -61 =51 -4 =31 -21] -1 0 |
[ g(x) | 1 ] 2 3 4 | S 6 | T 8 | 9 |
| g'(x) | -18 | -16 | -14 | -12 | =10 | -8 | -6 | -4 | -2 |
| x| 1] 2 3 4 S 6 | 7 8 | 9 |
| gx) I =81 =71 -6 =51 -4 | 3 =21 -1 0 |
I g'(x) | 0 | 2 | 4 | 6 | 8 | 10 | 12 | 14 | 16 |
77
No04 = x(1) = — P(x)=8+4/x —9,k=7
+1
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Diff03 for No.12113

7
d=(f(x)=(Tx-4)") 2=(fx)=2x"+2x+11))
3=(f(x)=4-4+3x) .4:(f(x):5—J

3x+5
No0l = 1 1
S=|f(x)= ; .6:(f(x):—j
2xt+2x+5) V8x-3
5 (8x-5)
T=(fx)=(8x-5)(3x+7)) S=fx)="""715
L (3x+7) J
No2 : k = 3 === ====== === ===
[ x| £(x) | £'(x) | g(x) | g'(x) | [ x| £(x) | £'(x) | g(x) | g'(x) |
| -6 | 0 | -12 | -3 | 5 | [ 1 | T 2 | 4 | -2 |
| =5 | 1 | -10 | -4 | 4 | [ 2 -6 | 4 | 3 -3
| =4 | 2 -8 | -5 | 3 | [ 3 -5 | 6 | 2 -4 |
| =3 | 3| -6 | -6 | 2 | [ 4 | -4 | 8 | 1 | -5 |
| =2 | 4 | -4 | 7 1 | [ 5 | -3 | 10 | 0 | -6
[ =1 | 5 -2 6 | 0 | [ 6 | -2 12 | -1 | =7 |
[0 | 6 | 0 | 5 | -1 | [ 7 -1 | 14 | -2 | -8 |
No3 : k = 3 ======= s========== s==============
| x | =81 =71 -61 =51 -4 =31 =21 -1/ 0 |
[ g(x) | 3 2 | 1 | ol -1 -21 =31 -4 =51
l g'(x) | 10 | 8 | 6 | 4 | 2 ol -2 1 -4 1| -6
| x| 1] 2 | 3 | 4 | 5 | 6 | 7 8 | 9 |
| gx) | -6 | =71 -8 9 | 8 | 7 6 | 5 | 4 |
[ g'(x) | -8 | -10 | -12 | -14 | -16 | -18 | =20 | =22 | =24 |
8 7
No04=| x(1)=", — P(x)=24/x 7, k=2
+ 7
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Diff03 for No.12541

d=(f(x)=(4x+3)) .2=(f(x)=(3x3—2x—2)7)

3=(f(x)=4/2-5x) .4=(f@):ﬁ}
Kl

No0l = 1 1
S=|fx)= .6:(f(x):—j
6
2x*+2x+5) VT7x—4
5 (8x-3)°
T=(fx)=(8x-3)(7x+2)")  8=|f(x)=— 3
L (7x+2) ]
No2 : k = 3 === ====== === ===
[ x| f(x) | £'(x) | g(x) | g'(x) | [ x| f£(x) | £'(x) | g(x) | g'(x) |
| -6 | 0 | 4 | 0 | -16 | [ 1] T -3 | 7 -2 |
[ =51 -1 3 1] -14 | [ 2] 6 | -4 | -6 | 0 |
[ -4 | -2 | 2 | 2 | -12 | [ 31 5 | -5 | -5 | 2 |
[ -3 | -3 | 1| 3 -10 | [ 4] 4 | -6 | -4 | 4 |
[ -2 | -4 | 0 | 4 | -8 | [ 5 3 =7 -3 | 6 |
[ -1 -5 | -1 | 5 | -6 | [ 6 | 2 | -8 | -2 | 8 |
[0 | -6 | -2 | 6 | -4 | 7 1 -9 | -1 | 10 |
| x | -8 -7 -6 -5 -4 -3 | -21 -1/ 0 |
[ g((x) | 5 4 | 3 2 | 1 ol -1 -2 1 =3
| g'(x) | =14 | =12 | =10 | -8 | -6 | -4 | =2 | 0 | 2|
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
| gx) | -41 -5 -6 =71 -8/ 9 | 8 | 7| 6 |
[ g'(x) | 4 | 6 | 8 | 10 | 12 | 14 | 16 | 18 | 20 |
37
No04 = x(t)=6+t2,P(x)=2f—5,k=7
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Diff03 for No.12590

6
d=(f(x)=(5x+2)) 2=(fx)=2xX+2x+7))
1
3=(f(x)=+/5-2x) .4=(f(x)=5—J
5x +8
No0l = 1 1
S=|flx)= - .6:(f(x): j
2x*+2x+5) V2-3Sx
5 2x+7)
T=(fx)=2x+7)(5x+8))  .8=|f(x)= -
L (5x+8) ]
No2 : k = 2 === e === ===
[ x| f£(x) | £'(x) | gx) | g'"(x) | [ x| f£(x) | £'(x) | gx) | g"(x) |
| -6 | -3 | 8 | 2 | -14 | [ 11 4 | 1| -5 | 0 |
[ =5 | -2 | 7 1| -12 | [ 2] 5 | 0 | -6 | 2 |
[ -4 | -1 | 6 | 0 | -10 | [ 3 6 | -1 | 7 4 |
[ =3 1 0 | 5 | -1 | -8 | [ 4 ] T -2 6 | 6 |
| -2 | 1] 4 | -2 | -6 | |5 | -6 | -3 | 5 8 |
[ -1 1 2 | 3 -3 | -4 | [ 6 ] -5 | -4 | 4 | 10 |
[ 0| 3 2 | -4 | -2 | [ 7 -4 | -5 | 3 | 12 |
No3 : k = 8 ======= e e
| x| -8 =71 =61 =51 -4 ] =3| -2 -1] 0|
| g(x) 1 -1 01 1 21 31 41 51 61 7]
| g'(x) | =10 | -8 =61 =41 -2 0| 21 41| 6|
| X 1| 2 3 4 | 5 | 6 | 7 8 | 9 |
[ g(x) | 8 | 91 -8 1 -7 1 -6 51 -4 -3 -2
[ g'(x) | 8 | 10 | 12 | 14 | 1o | 18 | 20 | 22 | 24 |
87
No04 =| x(t) =—, P(x) = 84/x -9, k=4
T+t
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Diff03 for No.12621

5
d=(f(x)=(4x-5)) 2=(fx)=2x"+2x+5))
1
3=(f(x)=+/8-7x) .4:(f(x):6—J
2x -3
No0Ol = 1 1
S=flx)= ; .6:(f(x):—j
(3x’+4x—-4) V2-35x
; (3x-28)°
T=(f(x)=3x-8)(5x+8)) .8=|f(x)= ;
L (5x+8) ]
No2 : k = 3 === ====== === ===
[ x| f(x) | £'(x) | g(x) | g'(x) | [ x| f£(x) | £'(x) | g(x) | g'(x) |
| -6 | 1 16 | -2 | =7 | [ 1] -6 | 2| 5 | 0 |
| =5 | 2 | 14 | -3 | -6 | [ 2] -5 | 0 | 4 | 1|
[ -4 | 3 12 | -4 | -5 | [ 31 -4 | -2 3 | 2 |
[ -3 | 4 | 10 | -5 | -4 | [ 4] -3 | -4 | 2| 3
| =2 | 5 | 8 | -6 | -3 [ 5 | -2 | -6 | 1] 4 |
[ -1 6 | 6 | 7 -2 | [ 6 | -1 | -8 | 0 | 5 |
[0 | 7| 4 | 6 | -1 | 7 0 | -10 | -1 | 6 |
No3 : k = 6 ======= s========== s==============
x| =81 =71 =61 =51 =4 -=3] -2] -1] 0|
| g(x) | -1 -2 =31 -4 =51 =61 =71 -81 9|
lg'(x) | =71 =61 =51 -4 =31 -2 -1 | 0] 1|
| x| 1] 2| 31 4 | 5 | 6 | 7 8 | 9 |
[ g(x) | 8 | T 6 | 5 | 4 | 3 2 | 1 0 |
[ g'(x) | 2 | 3] 4 | 5 | 6 | 7 8 | 9 | 10 |
77
No0d=| x(1) = ~ P(x)=84/x — 13,k=5
+t
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Diff03 for No.12641

I=(fx)=2x-7)"") .2=(ﬂx)=(3x?-8x+8f)

3=(f(x)=47-5x) .4=(ﬂx):g—%—z]
K

No0l = 1 1
S=|f(x)= .6:(ﬂx): j
4
2xt+2x+7) Vax—7
5 (6x+7)
T=(fx)=(6x+7Y (=6+7x)) .8=|f(x)= -
L (=6+7x)
No2 : k = 4 === ====== === ===
x| £ | £ (=) | gx) | g (%) | x| £ 1 £ (=) | gx) | g (x) |
| -6 | 41 -1a ] -2 | T 1 1 =3 0 | 5 | 0 |
| -5 | 30 -12 1 -1 | 61 1 21 -4 2 | 61 -1 |
| -4 | 2 | -10 | 0 | 50 1 31 -5 4| 7 -2
| -3 | 1] -8 | 1 41 1 a1 -6 61 61  -3|
| -2 | 01 -6 | 2 | 30 1 5| 7 81 =51 -4
I R 3 21 1 6| 61 101 -4 -5
ol -2 -2 4 17 51 121 -3 -6 |
No3 : k = 3 ======= e e
| x | -8 1 -7 | -6 -5/ 4 | -3 1 =21 -1 0 |
[ g(x) | 6 | 5 | 4 | 3 2 | 1| ol -1l -2 |
[ g'(x) | 12 | 10 | 8 | 6 | 4 | 2 or -2 1 -4 |
| X 1| 2 3 4 | 5 | 6 | 7 8 | 9 |
| og(x) | -31 -4| -5 -6 -7 -8 9 | 8 | 7
[ g'(x) | -6 | -8 | =10 | -12 | -14 | -16 | =18 | =20 | =22 |
374
No04 =| x(1) ==, P(x) = 44/x — 13, k=4
2+t
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Diff03 for No.12674

3
d=(f(x)=(2x-5)") 2=(f(x)=2x*+2x+7))
1
3=(f(x)=4/3x-2) .4=(f(x)=5—J
2x +3
No0Ol = 1 1
S=|fx)= - .6:(f(x):—j
(22X +2x+5) V3-2x
S (5x+7)
J=(f(x)=(5x+7)(2x=3)) 8=|f(x)= ;
L (2x-3) J
No2 : k = 2 === ====== === ===
[ x| £(x) | £'(x) | g(x) | g'(x) | [ x| £(x) | £'(x) | g(x) | g'(x) |
| -6 | 0 | 5 | -1 -12 | [ 1 | T -2 | 6 | 2 |
| =5 | 1 | 4 | -2 -10 | [ 2 -6 | -3 | 5 | 4 |
| =4 | 2 3 | -3 | -8 | [ 3 -5 | -4 | 4 | 6
| =3 | 3| 2 | -4 | -6 | [ 4 | -4 | -5 | 3 | 8 |
| =2 | 4 | 1 | -5 | -4 | [ 5 | -3 | -6 | 2 10 |
[ =1 | 5 0 | -6 | -2 [ 6 | -2 =7 | 1 | 12 |
[0 | 6 | -1 | 7 0 | [ 7 -1 | -8 | 0 | 14 |
No3 : k = 5 ======= s========== s==============
x| =81 =71 =61 =51 -4 -=3] -2] -1] 0|
| g(x) 1 21 31 41 51 61 71 81 91 -8]
lg'(x) | 51 41 31 21 1] 0] -1]| -2 =-3|
| x| 1] 2 | 3 | 4 | 5 | 6 | 7 8 | 9 |
| gx) | -7 -6 | -5 -4 1| -3 | -2 1] -11 0 | 1 |
| g'(x) | -4 1 -5| -6 | =71 =81 =9 | =10 | =11 | -12 |
34
No04=| x(1)=", — P(x)=24/x ~9,k=38
+ 7
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Diff03 for No.12728

6
d=(fx)=(5x-17)") 2=(fx)=2x*"+2x+5))
3=(f(x)=4/-4+3x) .4=(f(x):4—]

6x +5
No0l = 1 1
S=|flx)= ; .6:(f(x):—j
(4x°=5x-5) VT-6x
A (5x+3)
T=(f(x)=(5x+3)(-6+7x)") .8=|f(x)= "
L (=6+7x)
No2 : k = 3 === ====== === ===
I x| f(x) | £'(x) | g(x) | g'(x) | I x| f(x) | £'(x) | g(x) | g'(x) |
| -6 | 0 | -8 | -2 | 6 | [ 1] T 6 | 5 | -1
| =5 | -1 | -6 | -1 5 | 2 6 | 8 | 6 | -2 |
| -4 | -2 | -4 | 0 | 4 | 3 5 | 10 | 7 -3 |
I =3 | -3 | -2 | 1] 3 | [ 4| 4 | 12 ] -6 | -4 |
| =2 | -4 | 0 | 2| 2| [ 5 | 3 14 | -5 | -5 |
[ -1 | -5 | 2| 3 1] | 6 | 2| 16 | -4 | -6 |
[0 | -6 | 4 4 | 0 | 7 1] 18 | -3 | =7 |
No3 : k = 5 ======= s========== s==============
x| =81 =71 =61 =51 -4 -=3] -2] -1] 0|
| g(x) | 01l -1 -2 =31 -4 =51 =61 -71 -8|
lg'(x) | =81 =71 =61 =51 -4 -3] -2| -1] 0|
| x| 1] 2| 31 4 | 5 | 6 | 7 8 | 9 |
[ g(x) | 9 | 8 | 7 6 | 5 4 3 2| 1]
I g'(x) | 1] 2 3 4 | 5 6 | 7 8 | 9 |
47
No04 = x(1) =", — P(x)=8+4/x ~3,k=6
+t
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Diff03 for No.14247

I=(f(x)=(-7+3x)" .2:(f(x):(2x3+2x+11)7)

3=(f(x)=4/4-3x) .4=(f(x)=74—15J
Ao

No0I = 1 1
5= f(x)= .6:(f(x):—j
7
2x*-5x-5) V3-2x
A (8x+7)"
T=(fx)=(8x+7)(Tx+4))  .8=|f(x)= ;
L (7x+4)
No2 : k = 6 === e === ===
[ x| f£(x) | £'(x) | gx) | g'"(x) | [ x| f£(x) | £'(x) | gx) | g"(x) |
| -6 | -2 | -12 | 1| 5 | [ 11 5 | 2 | -6 | -2 |
[ =5 | -1 | -10 | 0 | 4 | [ 2] 6 | 4 | 7 -3 |
[ -4 | 0 | -8 | -1 | 3 [ 3 T 6 | 6 | -4 |
[ =3 1 1| -6 | -2 | 2 | [ 4 ] -6 | 8 | 5 | -5 |
[ -2 2 | -4 | -3 | 1| [ 5] -5 | 10 | 4 | -6
[ -1 1 3 -2 | -4 | 0 | [ 6 ] -4 | 12 | 3 -7 |
[ 0| 4 | 0 | -5 | -1 | [ 7 -3 | 14 | 2 | -8 |
| x | =81 =71 -6 -5 -4 =31 =21 -1/ 0 |
[ g(x) | 1| 2 3 4 | 5 | 6 | 7 8 | 9 |
| g'(x) | =10 | -8 | -6 | -4 | -2 | 0 | 2 | 4 | 6 |
| X 1| 2 3 4 | 5 | 6 | 7 8 | 9 |
| o) | -81 -7 -6 -5 -4 31 -2 1 -1 0 |
[ g'(x) | 8 | 10 | 12 | 14 | 1o | 18 | 20 | 22 | 24 |
47
No04 = x(t)=1+t2,P(x)=8f—9,k=7
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